BS3... SINGLE STATION SUBPLATE

‘ o BS301...
BS. %. 01
‘ Single subplate (blanking)
o (5) | ceroranes REREE
P/T/A/B closed
CETOP 3 SUBPLATES 2 9
BS301.../ BS30*... 00 No variant | . —+
Cap. VIl o 7 © S aa H4|7mr
BS310/11.../ BS312/13... @ Serial No. i !
BS314/15.../ BS316/17... 255
Cap VIl = 8 | weight: 0,2 Kg ‘
BS320/21.../ BSVMP10... Fixing sorews @ T L @
BS3W... Cap.VIl « 9 M5x14 UNI 5031 H i N
BC325/27.../ BC330/32... K = plate OR (Q25.95.0001) _ 7/ r\ s r\ \B, T
BC340... Car. VIl * 10 o N RN L/ &
* I 4 I
BC341/"... -
Cap.VII » 11 & - p @
BC350... / BC351...
BC307... / BC3107... 21.3 | 19.2
Cap. VIl « 12 Use for pressures up to 200 bar. 68
BC308.../ BC309...
BCO06XQ3.../ BCOBXQPS...
Car. VIl » 13 i
BC0625/27... Cap. VIl o 14 BS3**...
BC0630/32... / BC0640...
BCO0641/*... Cap.VIl 15 Sin . BS. X. 02 BS- %. 06
gle subplate (blanking)
BMS3.**.../ BM360... ‘ ‘ ‘ pe
Cap. VIl + 16 ('3 )| ceTOP3INGS | - R |
BM350.../ BM370... F T 8" PT B A
Cap. VIl » 17 02/03/04/05/06/07/08/09 e S
BM352.../ BM372... ! | !
TAVERE No variant 1Tt Loyrgd
P T B A P T B A
CMP10... Car. VIl ¢ 30 Serial No. BS. %. 04 BS. X. 08
XQ3... Car. VIl * 20 | | |
XQP3... Cap. VIl 22 _ ,—%—‘
Weight: 0,5 Kg ‘ e ‘ ‘ I Tq I ‘
Fixing screws M5x30 UNI 5931 85 . 05 e BS. % 09
| | |
o5 s O O
P T B A P T B A
ST ST
g | | | | | | _
I I o
g 5.5
T L i
L /A
© ', ©
B 1] /{_\:\:\‘///{_\\ \ m 1] .
N - TTT T QA ~
i ﬂ\\L//\\\L MH
T
S P &
21.3 19.2
68
Vil o 7 o
~tana> BREVINI

v Motion Systems



BS3... SINGLE STATION SUBPLATE

BS310/11... (REAR CONNECTORS)

_3l_ _10_ . :24: - ‘ - ‘
Single subplate
& I S ‘ ‘
& 1IN _
('3 )| ceETOP3/ING6 . - e
{}% R P
@ 10 = 1/8" BSP rear connectors R NI o o
11 = 1/4" BSP rear connectors N7 \\\&ﬁ/, o NS
. oL A e
No variant Ny —
()| serito. NOZEER
:32. 5: 20
Weight: 0,7 Kg - Fixing screws M8x20 UNI 59(;
BS312/13 (REAR CONNECTORS)
Single subplate == @ ’:[18 g ——= ‘ ‘
(7 - N Jpep=t gT & o ) ‘ _ |
(3 )| ceToP 3/NG6 — - | e PoT e
{}\\:’i// 54 i1 %
12 = 3/8" BSP N L I I ” C
rear connectors *+\:@/+ ©- S e g et -
13 = 1/4" BSP J}: eI LT
rear connectors /N T f@
I B I 1 A
No variant &1 ] L ©
525 30 \@‘?gﬁ? _30_
@ Serial No. 47 s 65
Weight: 1 Kg - Fixing screws M5x25 UNI 5931
BS314/15 (SIDE CONNECTORS)
60 35 -
=1 = Q
Single subplate _ 3l \@@ 27 :l_f \_1;
‘ \ |
Iz - = o -
(3 )| ceTopamGe (O O) =
@ 14 = 3/8" BSP side connectors (*) ool - =13 | ¢
15 = 1/4" BSP side connectors (*) A _1e
" b1t - F /f/&@
No variant @ [l}‘ @ _ o] TER
N e i
i \
@ Serial No. 52:5 17
75 * Do not use with
Weight: 1,2 Kg - Fixing screws M5x35 UNI 5931 XQP3C3-D--2
BS316/17 (connecToRs SIDE A AND B, REAR P AND T)
65 -
Single subplate - \_fg
31 4‘
[ PT
('3 )| CETOP3/NG6 IO &
16 = 3/8" BSP rear A sl
and side connectors f\ ?Q T " I
17 = 1/4" BSP rear 2 S
and side connectors NE /{}E\,‘\F o
e | e
No variant *%jf ‘
_ @ | ©
@ Serial No. ‘
32.5
e
Weight: 1,8 Kg - Fixing screws M5x40 UNI 5931
Vil o 8 o
<pana> BREVINI

v Motion Systems



BS3... SINGLE STATION SUBPLATE

BS320/21 (connEcTORS SIDE A AND B, REAR P aND T)

U Y

JE

Weight: 2,9 Kg - Fixing screws M5x65 UNI 5931

Single subplate o

S i CH. 17 :: 31 ::
CETOP 3/NG6 i jﬁ»—w. 21 TAHT

g a Vol
20 = 3/8" BSP rear and side connectors ,_Jf: Lo i/ | @ &
21 = 1/4" BSP rear and side connectors 5 5
M = Plastic knob e
C = Grub screws ﬁ——kg,l\/éé{g:: Sk
Setting range Il 4 i
1 = max. 50 bar (white spring) P
2 = max. 150 bar (yellow spring) N 1 iy
3 = max. 320 bar (green spring) -~ 0
No variant 1

65

Serial No.

* The minimum permissible setting pressure
depending on the spring: see cartridge valve

type CMP10... Cap. VIl « 30

max. 168

max. 58

BSVMP10 SINGLE STATION SUBPLATE WITH MAX. PRESSURE VALVE FOR SURFACE MOUNTING (E.G. ON TAKE COVER)

max. 58
VMP) | Max. pressure valve ) ECH. 17 (—’
o mH R7_I —
3/8" BSP connectors T %'IJ(—XC 0 M
@ M = Plastic knob CH. 21 Ch.5
C = Grub screw 7.5 60
V = Handwheel 75 max. 57.5
max. 132.5
@ Setting range
1 = max. 50 bar (white spring) mex. 167
- 18 32 #5.5
2 = max. 150 bar (yellow spn"mg) - i .
3 = max. 320 bar (green spring) P
I [ It [
No variant o e b
A i
2 N v
@ Serial No. @@ e
1 3/&' N .
o ’@\S\ [
Weight: 1,6 Kg i < I L]

Single subplate

Fixing screws M5x60 UNI 5931

*The minimum permissible setting pressure depending on the spring:

see cartridge valve type CMP10... Cap. VIl « 30

BS3W...
75
Single subplate _ e &
_ 31 i N}o@
(13 )| CETOP3/ING6 B
© ©
@ Wheatstone bridge \ & S . !
. < \Oﬁ/ﬂ:\ N
No variant T S o L i R P R ANLEE
! \\:\{/C)\\:i/ o /
@ Serial No. I ~ B‘ > = |
@A
o | © L " —
Weight: 1,8 Kg 32.5 21 32 ! S !
Fixing screws M5x45 UNI 5931 S - | ¢ "]
Vil 9 o
<gs> BREVINI

Motion Systems




